


Number of students

Questions 1 to 5 carry 2 marks each. Show your working clearly in the space
provided for each question and write your answers in the spaces provided. For

questions which require units, give your answers in the units stated.
(10 marks)

1. The graph shows the number of students at each fevel in Rose Primary
School.

Students in Rose Primary School
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Primary !_eve!s

Find the total number of pupils in Rose Primary School.

Ans:

Do not wrile
in this space







Denise bought Ekgr of sugar. She used A kg of the sugar to bake a cake and Do not write
4 3 in this space

used -:;of the remainder to bake a donut. How much sugar had she lefi?

Give your answer in kilograms.

Ans: kg

The ratio of the number of boys to the number of gilsin a class is 1:3. The
rafio of the pupils in the class who take swimming lessons to those who do
not take swimming lessons is 7: 3. The ratio of the boys who take swimming
lessons to those who do not take swimming lessons is 4 : 1. What is the ratio
of the girls who take swimming lessons to the girls who do not take
swimming lessons?

-

Ans:







The figure shown below, a trapezium ABCD was folded as shown. AB is

parallel to CD. AE is parallel to BF. ZAEF=865° Find £FAE.

C

Ans:

I3mj

Faith has 2 tanks, A and B of different capacities. If fank A is filled by a tap at
a rate of 3 litres per minute and tank B is filed by a tap at a rate of 5 litres
per minute, when tank A is compietely filled, 5 litres of water flowed out from

fank B.

If tank A is filled by a tap al a rate of 4 litres per minute and tank B is fitled by
a tap at a rate of 3 litres per minute, when lank A is completely filled, tank B

is anly half-filled. What is the capagity of tank B?

Ans:

(Bmj

Do not write
in this space



Asthur and Eunike started off from the same place at 10 am lowards Plaza
4 Do not write
Senayan. When Eunike had completed Ed the distance, Arihur hiad only |in this space

2 . _t
completed —?;of the distance o Plaza Senanyan. Eunike’s average speed was

12 km/h faster than Arthur's. What was Arthur’s speed?

Ans: 3m]




10.

In the diagram shown below, 23 identical toy. wheels were placed between
Iwo walls with equally spaced gaps between lhem. The first toy wheel and
the last oy wheel were touching the front wall and fast wall respectively.
Given that.the dislance between. the. two walls was 399 cm and that the
radius of a toy wheel was 7 cm, find the length of the gap between any two
adjacent wheels as shown below.

Wall

¥

399 cm

Ans: J3mj

Do not write

in {his spac







12.

Kiren put all his stamps into 24 large albums and 18 small albums. Each

targe album can hold 18 more stamps than each smalt album. %of his

| stamps were put into all the small albums and the rest were put into the large

albums. How many stamps can be put into one large album?

Ans: {4m)

10

Do not wrile
in this space







4.

@

(b)

The bill for a dinner for 4 friends at Sedap Reslaurant is shown below.
A service charge of 10% was included in the bill before a GST of 7% is
added.

Description Quantity Cost
Towel - $0.3C 4 $1.20
Healthy Drinks - $3.70 4 $14.80
Bun - $0.80 10 $8.00
Abalone -$60 1 $60
Steam Sea Bass - $40 0.8 kg $32
Crabs 2 ?
Vegetable - $12 1 $12
Meat -$14 1 $14
Sub total. ?
Service Charge 10% ?
GST 7% ?
Tolal Payable ) $204.25

How much must each of the 4 friends pay for his dinner if they share the
cost equally? Round off your answer to the nearest dottar.

The price of the crab and some of the information are missing from the bill.
What was the price of the 2 crabs without the service charge and the GST?

Ans: (a).
o, BB

12
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15.  The figure below i$Toided using a rectangular slip of paper. Do not write
Find the length’ of ihe slrip of paper. in this space
\(- folded lnes
h 43 cm
Aps: 15m}

13



16.

Ryan bought some pears and apples in the ratio of 3 : 5 respectively. The
cost of an apple was $0.50 less than the cost of a pear. He spent a total of
$95 buying the pears and apples. The lotal cost of the apples was $5 more
than the total enst of the pears. How much did each pear cost? .

Ans: {bmj

14
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17.

“Chatty” phone company offers mobile phone se

following rate:

rvices and charges at the

Plan A Plan B
Monthly $38 $52
Subscription :
Outgoing Free for the firs{ 100/ Free for the first 300
calls minuies minutes
Part thereof 16.05 cents Part thereof 16.05 cenis
per minute per minufe
Short Free for the first 800 SMS | Free for the first 900 SMS
Message
Services Charged at 5.35 cents per Charged at 5.35 cenls per
(SMS) SMS SMS

*Total bilt includes monthly subscription.

{a) In February, Jane made 180 minutes of outgoing calls and sent a total of

1000 SMS. How much was

her total bill if she had subscribed to Plan A7

{b) How much would she have saved in February if she had subscribed fo Plan

B?

15

Ans: (3)

®)_

[2m}

[3m]

Do notl write
in this space




18.

{a)

(b}

Two lypes of square-shaped ftiies, tile 1 and tile 2 are available to make a
targer pattern on the floor. The pattern of each square-shaped tile is shown
below.

tile 1 tile 2

Tile 1 is made up of 3 white squares and 1 black square.

Tile 2 is made up of 2 white squares and 2 black squares.

Figure 1 shows a floor laid with Tile 1 and Tile 2 in a repeaied pattern.

s B Figure 1 |

90 pieces of Tile 1 were used o cover part of the floor inthe room in the
pattern shown in figure 1. Find the lotal number of files needed {0 tile the -
fioor in figure 1. (Onty complete ties were used)

What percentage of the floor in figure 1 was covered with black squares?

* Show your working clearly and write down the answer on page 17

16






EXAM PAPERS 2014

SCHOOL: ROSYTH SCHOOL
SUBJECT: MATHEMATICS
LEVEL: PRIMARY b6

TERM: PRELIMINARY EXAM

PAPER 1 (BOOKLET A)

Q1

Q2 a3{oaj Q5 Q6| Q7] Q8 | Q9

Q10

Qi1

Q12

Qi3

Q4

Q15

2

2 3 1 2 2 4 3 2

PAPER 1 (BOOKLET B)

Q16
Qi7
Q18
Q19
Q20
Q21
Q22
Q23
Q24
Q25
Q26

Q27

Q28

Q29

6.99
1%
9
10
221
6.40
118
6
4%, 9M1,%,11/13

80
Assume 1u->6
3u—>6x3=18
2u->6%x2=12
rect—>216cm?
18/2=9cm
AE—>%9em
DF->12/2=6cm
1XB6x9=27cm?
2712165%
Ans: 1/8
water->20x20x20=8000cm?
water level>8000:250=32¢cm
Ans:32cm .
8x5=40cm
4y
y=5-x
4y->20-4x
40+20-4x=60-4x
Ans: (60-4x)cm
G=R .
GH+RO>1-%-%=12/12-4112-3M12

=5/12




=5/12xY:
=524
5124325
1/24->25:5=5
24124->5x24=120
Ans:120
Q30 : "
PAPER 2
Q1  185+200+175+165+190+195=1110
There were 1110 pupils in Rose Primary School.
Q2 Eunice fris
B:G . B:G
3u2u T 1.2uBu
5u>100  2/71:57
3u+2u+1.2u+3u->100/5x8.2=184
They have 184 pens.
Q3 1 quad radius/2=1u
14cm->7u
1u->14/7=2cm
1 quad radius->2cmx2= 4cm
4 quarter=1 circle
a?
nxdx4=167
The area of the 4 quarier c:rcies was (16r)cm?.
Q4 5/5-%=%
“%(nkg-¥kg)=4/12kg
=¥%kg
She had ¥%kg of sugar left.,
Q5 boysgirls
13
x2.5

G=5/12%2

25u:7.5u



swim {7u-2u)=5u
don't swim{7.5u-5u=2.5u}
Girls
swim : don't swim
5:25
1:2
The ratio was 2:1.
Q6 a)87+85+91+83+89/5=87
‘The members collected an average of 87 stamps.
b) 6(89)-435=99
The new member collected 99 stamps.

Q7 £XDA->65°
£ CDX—=>65°
2 DXB->180°-65°=115°
£ DAX= £ FAE>115°-65°=5("
£ FAE was 50°

Q8 A:B
2:3
A>3E8X x
B—>4.58X x=58x X-5¢
0.5exX=5¢
x->10

_5ex10-58=45¢
“Tank B was 45¢€.

Q9 In 1h, E travels 12km/h more than A.
%-%=2/15distance
2/15distance>12km

"15/15 distance->12km/2x15=90km
%x90km=72km
‘A->72kin/h-12km/h=60km/h
*Arthur’s speed was 60km/h:

Q10 23x({7x2)=322cm
399-322/23-1=3.5cm

The gap was 3.5cm.

Q11 A:B+C+D Total
1:2 3
$150<450/3x1>A
B: A+C+D Total
4:11 15
$120<-450/15x45B
C:A+B+D Total
3:7 10
$135¢-450/10x3->C

D=$45



Q12

Q13

Qi4

Qib

Q16

45-15=$30 (D) ¢Dgave o C $15
135+15=150 C

D:C

30: 150

1:5 _

The ratio was 1:5.

extra stamps—>24x18=432

LS.

24u+432:18u

18u>%

%->18/2x3=27u
27u-24u=3u=432

3u—>432

1u->432/3=144

1u+18->144+18=162

162 stamps can be placed in one large album.
(20)%-rx( 1 0)?/2=(200-50m)
n(10)2—(3fzx20x10}=(100:1—200)(:m2
(1007-200)-(200-50m)=50r

Area of the shaded figure is 50ncm®
a) $294.25:4=$73.56=$74

They must each pay $74.

b) 117.7%—>$294.25
100%->294.25/117 x 100=$250
$250-$12-$1 4-$32-$60-$8-31 4.80-$120=$108
The price was $108.

——=x
—+H-=Y

5x+dy=43—D)

2x+1y=13—)

3x+3y=30 _

x+y=10—C)

compare 3) and(@ : X=3, y=7
10x+9y={10x3)}+(7x4)=93

P:A

3u:bu

cost of pears—>95-6/2=$45"

cost of apples->$95-$45=$50

3u of pears >$45

5uof apples>$50

1u of pears—>10

3u->»10x3=30

1 pear->$45:30=$1.50

Each pear cost $1.50



Q17 a) {80x1 6.05¢)+{200x5.35¢)+3800=61 54¢=561.54
Her total bill is $61.54
by (1 6.05)+100(5.35)+5200=5735¢
6154-5735=419¢=$4.19
She would have saved $4.19
Q18 ayl row->2 tiled, Jtile 2
rows—>90/2=45
tiles>45x5=225
225 tiles were needed.
b) 8/4x5x100%=40%
40% of the floor in figure 1 was covered in black squares
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